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20219 &= =20la LB SEs
S =ES
N mgsed
Sl EES A (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
=gs 367,663 296,113 71,550
=gs2g 305,878 227,308 78,570
=g A E 305,878 227,308 78,570
A2 FOU=SJAAY 45,000 69,000 A 24,000
401 Al Bl 28I 45,000 69,000 A 24,000
01 A& HI 45,000 69,000 224,000
OL7L FU=JAAY 40,000
OFQAN 3 A 5,000
EAt2el 108,772 28,254 80,518
101 @124 dl 21,340 20,804 536
04 DIt 22 XREES 21,340 20,804 536
OF2 2% I FH| 80, 100& x 10 x63 4,806
Ot ¥ QIEH FTA 22 16,534
2= 26,1603 x2H x252 13,185
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201 £B-2dH| 1,932 1,800 132
01 At 22/l 1,932 1,800 132
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oHad 29 11,0002 =128 132
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O3 &4 2SS (XN . a7 S) 2,000
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OFQANEZ A 2,000
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QA SHEA ZA 45,000
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250,000& 264 6,500
AELHUHS S 12,726 7,034 5,692
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04 HtSLHUHAH XA 12,726 7,034 5,692
o=ghsddl 29 7,034
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Sl EES A (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O=2d HSI2HA 20,0003 x20H 13 400
OXXIA3AH 24 20,0003 x24H « 1204 2 5,760
OXxletetsl &2 (#ixior) 50,000& x25H 1,250
12 JIEtE 43 32,200 32,200 0
OXXIAtE S ZAt=E
35,000 *81k =+ 115A] 2+ 32,200
405 TtabF S| 3,300 3,950 A 650
01 AL ESFHSHI 3,300 3,950 A 650
Ossd=ss ¥ 2,000
OAM3IT 7L 500,000& *2CH 1,000
ogcs 2g 300,000 =14 300
Mo & THe 22l 1,000 0 1,000
THOH THH Ol 2t 1,000 0 1,000
THOHTHE Ol 2 =237 X2 1,000 0 1,000
201 L2l 1,000 0 1,000
01 At 22l 1,000 0 1,000
Oo22=+ &l gz 1,000
HE2LIH(ZES) 60,785 68,805 A 8,020
sgsJl=23l 60,785 68,805 A 8,020
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01 At 22l 8l 16,945 16,605 340
Oget=&H| 11,000
OsfY e 25,0002 113 2,825
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01 J22F PR =8| 6,600 6,600 0
OJIa2gdgex=a 6,600
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